Summer Work after Integrated Math 1
Students moving from  Integrated Math 1  to Integrated Math 2 should be confident enough with this material to be successful on an assessment.
Remember to use the online resources to refresh your memory as you work through material.  www.phschool.com    webcode:  ate-0775

Show your work for all problems.  This is material you will be held accountable for in the following course.

1.  5 + 4(6 – 8)
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2. Write the function rule:

                                                                             10.  A bus traveling 40 mph and 
	Time
	Cost

	 1 hr.
	$12

	2 hr.
	$19

	3 hr.
	$26

	4 hr.
	$33


                                                              a car traveling 50 mph cover 

                                                              the same distance.  The bus

                                                              travels one hour more than 

                                                               the car.  How many hours did 

                                                               each travel?
                       
3.  
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                                                  11.  Determine if these could be 
                                                                                   sides of a right triangle?

4.  
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 =                                                                 8, 15, 17
5.  
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 =                                         12.  A 12-ounce can of beans sells 
                                                                                    for  $1.45.  What is the price 
6.  
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                                                          per pound?
7.   
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                                                  13.  The foot of a 25 foot ladder  
                                                                                    is placed 7 feet from the base 
8.  
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                                             of a house.  Will the ladder
                                                                                    reach a windowsill 24 feet high? 
Solve and graph:

                                                                        27.  Solve the system: 
[image: image9.wmf]y2x6

3x4y24

ì

=-+

ï

í

+=

ï

î

  
14.  
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                                                                        28.  Solve the system:  
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15.  
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                                                                        29.  Solve the system: 
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16.  
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17.  
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                                             30.  Simplify:  
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18.  Write the direct variation equation           31.  Simplify:  
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       through (4, -8).                                      
19.  Find the constant of variation for              32.  Identify as Exponential growth or
      the inverse variation when x = 12                       decay:  
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      and y = -8

20.  Find the slope:  3x + 4y = -2                       33.  
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21.Find the intercepts:  3x – 4y = 12                 34.  
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22.Write:  
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 in standard form.           35.  
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23.  Write:  
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 in slope-intercept form          36.  
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24.  Write the equation of the line that                      37.  (x – 2)(x + 2) =   
       passes through (2,5) and (4,8).

                                                                                 38.  Factor:  
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25.  Write the equation of the line parallel to
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 and passes through (-3,5)                 39.  Factor:  
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26.Write the equation of the line perpendicular      40.  Factor:  
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     to  y = -x – 3  passing through (3,-2)
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